EAGRAROBREERT — 2 N— ABISH —F

20195118148 (K) 13EIA#4H

BN -xhvammEe B2m ¥5%—#

‘ [R1%] & ‘ [REBB] — | & (&) 14000 B

[A&4£] 1 7% :2,500,000 @ 23 :1,000,000 33 :625,000 4 3% :375,000 @ .~ 5 & :250,000 M
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
e NS £ 6 | HHAE 1:27.4 4-3-3 |38.6| — 1 478 | REZEH (KH)
1813 F 7L T 0 - b3 | AREE
LT v H/FkEF BZFRYTIU-X RFHis
Sk 4 6 | mEY 1:27.5 222 [39.0| — 4 537 | HLFEE (KH)
2 g|¥—h> 56.0 (1/2) (1g) |7ZEIE]
R:HxEFY B:IvRYIA e
_5 . 44 | HEE 1:28.0 3-4-4  |39.1| — 2 502 | SIEEE (KH)
3 2| A=FVa1rX 56.0 21/2) (-5) Sehfe
RNZ—kba1—X B:4va9y KE BE
- iyl : -10- — BAME (/)
4 NERE ST 2 6 2 1'(218'9 9-10-9 | 37.7 10 (4+514) bS] g
R:AYIRI4Y B:TUEET Y b hE A%
i ) ft 5 | REEZ 1:29.0 6-6-6 |38.9| — 6 490 | LTEfH (KFH)
5|5/ |7/ tX 5.0 (1/2) (+2) |FUNI=EB
X:a-I> 79> B:vFhxvHxax BRRESH =4S
sy K o7 | AEE 1:29.0 8-7-7 [38.5| — 1| 493 | =HH (KH)
Eﬂ 5 Ry KoaAa 56.0 (7€) (-3) ’él:l*;}\
v —~NFAHY>F— B:vs/0k—%v b N 45035
s — R RE&E 129, -1- . - ZfREEEZ (KH)
71111 Iq/>>raz=a-—> 5 56.0 1(12/92)] 11 ‘0.7 2 (5_37% 2887
R:F4—7TTUSL 7 B:ALIH— ESiTie]
. - 49 | WHZEK 1:29.2 11-11-11 | 37.8| — 9 484 | REEE (KH)
glsl7| KT b=y o1—2 5.0 i Gy | wmi
R:E>/ K53y B:EYxZOY> e
9 4 FLTTLHIEY 4 6 g;frgré-ﬂ: 1:(229).6 5-5-5 | 39.7| — 8 481 Iﬁ;ﬁ;éi (KF#)
L:¥vTFobho—L BTAXT (-5) TrI—kNTr—L
= > 4 | REE#F— 1:30.0 10-9-10 [39.0| — 3 501 | BEEMES (K3H)
10(8|12| 71 A - 56.0 () 47 | R AFYTR—NT TR
LN=Z—ba1—X B:v¥v/<v ELie )
. it 5 | HIEESR 1:30.2 7-8-8 |39.6| — 5 520 | #AREZ (KH)
1 3| T T Tl g 56.0 (1 1/4) 1) | W) I27+1
Z:A7x B:Yav/hr)-=-X Sote ]
= = 5 | BHER 1:30.3 12-13-12 [ 38.6 | — 7 422 | $BIIZ (viR)
127 |10| =T LTY— 56.0 1/2) ) |BEE=
LN=Y774 B:NRyIaKR-J kR4
2 S 46 | MIBEZR 1:31.3 13-12-13 [39.5| — 13 | 509 |EEHFE (KH)
131711 LYY FLTw 5.0 5) +2) r}ﬁﬁé/a\f;x (#%)
LTV XTI R B:v—TNy—7 AT 77— L
® I—F—@EBIERL
13—=7-
2ol=5"= 1,9,2,13,4,6,3,5,8,12,7,10,11
== 1,9,13,2,4,6,5,3,12,8,7,11,10
41—F— 1,9,13,2,4,6,5,3,8,12,7,10, 11
[ N
B 13 150 794K 9-13 250 & 6-8 510 &R 2-9-13 870M
# B 13 100/ 2-13 190M B 8-6 650 EE 13-9-2 2,630
9 160 2-9 520M B = 9-13 630M
2 1509 B H 13-9 850/

ARICOVWTRDTEEERROODE. TR LI,




